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In 2005, about 1,000 tourists from abroad came to Minami City. During
the next ten years, the number went up. Over 2,000 tourists came to Minami
City in 2015. The number of tourists from Minami City to other countries . . . . .

. y, y There is a mountain in our city. It is 815 meters high. I went there
didn’t go up. ] >

—  Tourists from abroad to Minami City this summer with my family. I saw a lot of garbage. I was surprised to

----* Tourists from Minami City to other countries

see it. We cleaned the place for about 30 minutes. Everyone should
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